Week 8
Thursday 14th May 2020
Year 5
Press this link for more explanations: https://www.youtube.com/watch?v=40BJ0o0VD-0
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Varied Fluency — Timetables

1a. Look at the bus timetable below.

1b. Look at the bus timetable below.

BusA [ Buss [ Bwc | BwD BusA Bt | BuC 8w
Prestwch | 915 | 1015 | 1115 | 1213 Beson | 705 | 805 | %05 | 1005
Carr Clougn | 525 | 1025 | 1125 | 1225 InfemarySe | 730 | &30 | 530 | 1025
Kenal | 930 | 1030 | 1130 | 1230 Heatingey | 750 | 850 | %50 | 1040
Cromwelise. | %35 | 103 | 113 | 1235 Howparc | 200 | %00 | 1000 | 1030
Manchester | 935 | 1035 | 1145 | 1250

How long does it take Bus C to get
from Cromwell Street to Manchester?

Which two buses take exactly the same

amount of time to travel from.
Prestwich to Manchester?

hig

How long does it take for Bus D to get
from Headingley to Holt Park?

Which bus takes the shortest amount of
time to travel from Beeston to Holt
Park?

big

2a. Here is a timetable for lake cruises.

2b. Here is a timetable for lake cruises.

Leave Bowness | Arrve a Brockhale
Guniding | 200pm | 300pm | +0pm | s0prs
1030am 1050am
i Foree s5pm S5 T T
o | 235pm | 335pm S35 o [y
PocteyBridge | 255pm | +00pm | +45pm | 690gm,

Does each journey last the same
amount of time?

How long does it take Boat C to get
Pooley Bridge?

g

Does each journey last the same
amount of time?

to | How long is the journey from Bowness

to Brockhole?

big

3a. Football Club lasts ten minutes
longer than Tennis Club.
What time should Football club end?

3b. Talented lasts 15 minutes longer
than Dance Off.
What time should Dance Off end?

Crcker | Hockey | Tennis | Dance | Foowal | | [ Tansed | Clock Beat | News | Dance of
%00am | %00am | %15em | %30am | %00am || [ 400pm | 500pm | 530pm | 700pm
a45am | 450am | 1000am | 1000am| s00pm | eoopm | coopm B

g

D¢
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Varied Fluency — Timetables

4a. Look at the bus timetable below.

4b. Look at the bus timetable below.

Which bus takes the longest amount of
time to get from Chester to Liverpool?

How many seconds does it take to get
from Hooton to Eastham on Bus B?

%

BusA [BusB | BwC [ BuD BusA [BusB | BusC | BwsD
Chester | 0645 | 0715 | 0743 | oa15 Fuddersted | 0545 | 0650 | 2003 | 2135

Whithy Woods | 0657 | 07.27 | 0758 | 0827 Eney | 0613 | 0718 | 2033 | 2209
Hooton | 0712 | 0742 | 0815 | a4z Flockion | 0619 | 0726 | 2039 | 2209
Eastham | 07.14 | 0744 | 0818 | 0844, Overon | 0624 | 0729 | 2044 | 2214
Bromborough | 07:12 | 0748 | 0823 | o84 Waketaa | 0645 | 07:56 | 2105 | 2235
Lverpoot | 0743 | 0813 | 08 | 0513

On Bus A, how much longer does it
take to get from Emley to Wakefield
than to get from Huddersfield to
Emley?

How many seconds longer does it take
to get from Huddersfield to Wakefield,
on Bus B than the other buses?

hid s

Sa. Each train takes the same amount
of time to travel between each station.

Sb. Each bus takes the same amount of
time to travel between each station.

London Euston | 1835 1325 [ 1950 | [ Hamogme | 1005 | 1215
Wasra | 1850 | 1915 Knaresborough | 1025 21
Mikon Keynes 1536 | 2000 Fambhan, 2en | 133
Covenry | 1946 203 | 2101 Copgrove | 1035 | 1305
Bumingham | 1957 | 2020 EER) Ripon o Te0s

Calculate the missing times.

b cw

Calculate the missing times.

e

6a. Pilates lasts 15 minutes
longer than Aerobics. What time does
Aerobics start?

6b. Star Factor lasts ten minutes longer
than Cake Bake. What
time does Star Factor end?

e | oge | e [ zunse | warme | |[Foogreve | coe e | v [ vy
> | e | v | o |z || wm [ ww | ws | v
1g0s | 1925 | 2030 | 200 | 215 w0 | s | moo 2

7 i s
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Varied Fluency — Timetables

7a. Look at the train timetable below.

7b. Lok at the bus timetable below.

ratn A Tran & [ Train €[ Tran BusA Bt | BuC [BwD
Westkuny | 1836 | 1908 | 1526 | 1553 Lncole | 0530 | 0550 | 0610 | 0620
ogake | 1839 | 11 | w27 | s Waddingion | 05:46 | 0607 | 0627 | 06
easowe | 1848 | 1920 | 1936 | 2008 Leadenhan | 0604 | 0625 | 0645 | 0659
Burkenhead | 1856 | 1526 | 1542 | 2011 Honingion_| 0621 | 0642 | 07:02 | 0726
Hamiton | 1501 | 1533 | 194 | 2018 Beton | 0627 | 0632 | 0712 0738
Lime Stret_| 1908 | 1940 | 1536 | 2025 Granham_| 0632 | 0658 | 0718 | 0743

Train B is delayed for 17 minutes at
Leasowe. What time will it arrive at
the other stations?

How many more seconds does it take
to get from Hamilton to Lime Street
than West Kirby to Hoylake?

&

Bus C is delayed for 27 minutes and.
Bus D is delayed for 2 minutes. Which
bus arrives at Grantham soonest?

How many more seconds does it take

to get from Honington to Belton on
Bus D than Bus B?

rs

8a. Each boat takes the same amount
of time to travel between each
pier.

8b. Each train takes the same amount
of time to travel between each station.

Bankstde Pir 246 | 1308 Bumingham | 1833 2
Blackinars Pur_| 1222 307 | 1331 Covary_| 184 | 192
Erbankment Per | 1229 1314 | 1338 || [ Mton Keynes B 206
Filbank Per 3 346 Watord | 1947 | 200 | 2041
Vauhall Per 307 | s London Euston | 1956 2050 | 2108
Baersea Pr | 1243 1328 | sz

Calculate the missing times.

&

Calculate the missing times.

X

9a. Ballet lasts 18 minutes longer than.
Street Dance and ends 14 minutes
before Tap begins. What time should
Ballet start and end?

b Life lasts 16 minutes longer than
Top Car and ends 12 minutes before
The Hunt begins. What time should Life
start and end?

Balr | Top | Suest [Balloom e[ The Fune | News | Top Car
2 | s | 1505 | 1sss 1345 | 1505 | 1555
2 | w0 | isss | ess 2 | w0 | isss | ress

%
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